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Question 1.Select the related word/letters/numbers from the given alternatives:

& 72 faewedt 7 @ Hafeerd eree)sarl/aear & gfav
FINGERS : HAND :: ? : FEET

ECIC I E A I
Options:

1) NAILS

AT

2) TOES

4 St

3) ANKLE

AT

4) HEELS

ozt

Correct Answer: TOES
& Sfe

Candidate Answer: NAILS
AT

~

Question 2.Select the related word/letters/numbers from the given alternatives:

& I fareheul & & Hafeer Qree/ &R/ 1 fv]
OOQR : QQST :: UUWX : ?

Options:

1) WWYZ

2) YYwz

3) ZZWY

4) YYZZ
Correct Answer: WWYZ
Candidate Answer: WWYZ

Question 3.Select the related word/letters/numbers from the given alternatives:

3 1 ol & @ Haferd eree) 3R/ aedr # g
342 :453::831:7

Options:

1) 720

2) 740

3) 922

4) 942
Correct Answer: 942
Candidate Answer: 942
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Question 4.

For the following questions

Find the odd word/letters/number from the given alternatives.
(A) Barbarous (B) Uncivilized (C) Gentle (D) Wild

T 91T faemedt 31 & fawa eee)/ T/ 3ER/HEaT iT|
(A) ST (B) 3183 (C) F1#Ae (D) STater

Options:
1)A

2)B
3)C

4)D
Correct Answer: C
Candidate Answer: D

Question 5.

For the following questions

Find the odd word/letters/number from the given alternatives.

w310 fasredt 7 & Fawa erecy/dea/ e/ 9faw)
(A) BCE (B) WXZ (C) MNP (D) GHK

Options:

1)A

2)B

3)C

4)D
Correct Answer: D
Candidate Answer: D

Question 6.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

w710 fasmedt & Fwa ersc)/ e/ 3eR/dEar g7 gAv|
(A) 48:134 (B) 40:110 (C) 18:48 (D) 30:80

Options:

1A

2)B

3)C

4)D
Correct Answer: C
Candidate Answer: B

Question 7.Arrange the following words as per order in the dictionary.
TAFATATET Usel T LAecehiel & 5o & ITHR T U Hiiord |

1. Modicum 2. Modal 3. Mode 4. Modifier

Options:

1)2,3,1,4

2)2,3,4,1

3)3,2,1,4

4)3,24,1



Correct Answer: 2,3,1,4
Candidate Answer: 2,3,1,4

Question 8.In the given series one term is missing. Choose the correct alternative from the given ones that will complete the series.
T 1T 3Tt 7 T UG ofvd §1 T 1T Faenext #F & a5 wEY fased gw St gt &7 O |

XBC,WFG,VIK,?
Options:

1) XGH

2) UNO

3) YFG

4) WKL
Correct Answer: UNO
Candidate Answer: UNO

Question 9.Which number will complete the series?
Frfof@a & 4 faw 710 fawed # & a5 @ e e St Aol &t qof e 2

0,1,4,15,?,325,1956

Options:
1) 60

2) 64
3)75

4) 80
Correct Answer: 64
Candidate Answer: 64

Question 10.Pointing to a lady in a photograph, Meera said, "Her father's only son's wife is my mother-in-law". How is Meera's husband related to that lady in the
photo?

T # Faelr e 1 Rt gu T o e, 3w a 5 TR I i deelt A ARG-A | 3 & 9f 7 ey # R 7 Afgen & Fr weew § 7
Options:

1) Nephew

Eic

2) Uncle

qrar

3) Son

kel

4) Father

|

Correct Answer: Nephew

archat

Candidate Answer: Uncle
BB

Question 11.Five people A,B,C,D and E are sitting in a row facing you such that D is on the left of C and B is on the right of E. A is on the right of C and B is on the left
of D. If E occupies a corner position, then whose sitting in the centre?

dfa af@d A,B,C,D 3R E 39 At 3 1 U Gfed 7 580 9K 3 § 3 D, C & arft 3 § 3 B,E & arff 3 1 A, C & arff 3 & 311 B, D & amft 3w 81 7R E
FAAIST R, NPT F T T FAT a1 ?

Options:
1)A

2)B
3)C

4)D
Correct Answer: D
Candidate Answer: A

Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:

rfaf@d feredt & & a8 eea gAY S AT 910 e & 38R T T29T e 76T ST S FehelT 8
INTROSPECTION



Options:
1) INSPECTION

2) SCOPE
3) SECTOR

4) ROUTE
Correct Answer: ROUTE
Candidate Answer: ROUTE

Question 13.If I=9 and SLIP=56, then FALL= ?

fg 1=9 3R SLIP=56 &, &Y FALL=?

Options:
1) 21

2)31
3) 41

4) 51
Correct Answer: 31
Candidate Answer: 31

o

Question 14.If '+' means '+', '=' means 'x' , '+' means '+' and 'x' means '-', then 36x12+4+6+2—-3="7?

IR FITE L, FMITE X, FITE+ 3K FIRTE - @, A 36x12+4+6+2-3=?

Options:
1)2

2)61/2
3)18

4) 42
Correct Answer: 42
Candidate Answer: [ NOT ANSWERED ]

Question 15.Some equations have been solved on the basis of a certain pattern. Find the correct answer for the unsolved equation on that basis.
TRl OTTEA 3 3R TX %o T oT g fohdT T | faehed o &9 7 o a1 IR Scel 7 @ gl o ol 918 FletoT 7 SeeX o)

8x7x6=765
5x3x2=421
IX6x4= ?

Options:
1) 583
2) 853
3) 841

4) 481
Correct Answer: 853
Candidate Answer: [ NOT ANSWERED ]

Question 16.Find the missing term in the following question:-

T 91T 3ea’l 7 @ oo FEAT AT Hio|
6 15 20
8 = 5
3 5 20
51 65 ?

Options:

1) 56

2) 12

3) 120

4) 51

Correct Answer: 120
Candidate Answer: 120



Question 17.Ajit, starting from a fixed point, goes 10 m towards North and then after turning to his right he goes 10 m. Then he goes 5,10 and 10 meters after
turning to his left each time. How far is he from his starting point?

3ol Tk AR fieg & TefelT Y& FXeh 3k 1 3N 10 Fex TedT &, T &Rl 3T H3et 10 #eX IeidT | T 9 & IR 39e ST 30X AR 5,10 3R 10 e g8l
T8 39 g & fohcial gT & STéT @ 38 Telell TR fohar 27 ?
Options:

1)15m

15 =,

2)10m

10 .

3)5m

5.

4)3m

34

Correct Answer: 5 m

5.

Candidate Answer: 15m
15 .

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statement: Honesty is the best policy.

Conclusion

I: All should be honest.

II: Only some people should be honest.

FAfAfld uee 7 U a7 & Ieraey G 7 §, TSRk 31maY & frsehd/Agany, [ 3i% 11 fehrer a1 &1 31T9eh! TR X1 § T garded Ocd § 91 a8 9Head: A / a2t
el Tl BIaT 8T 39! AT &3aAT & oF AT 91T qeraed # | Fi-a1 fAfRad ¥ 3 T1 frsay/Aegdar e o Jdr ¢ ?
FYUeT 1 [-SHARTERT Tl 310 i g

ey

I- A $ARIER 8T AU fsen:

[1-de F& o3t T SHTER Tl =1feT |

Options:

1) Only conclusion I follows

ool vy I TE 8

2) Only conclusion II follows

Faer sy 11 Tgr ¢

3) Both conclusion I and conclusion II follow

sy 1 3R sy 11 @ @l &

4) Neither conclusion I nor conclusion II follows

o forsed [ T8 & 3R o forsehy 11

Correct Answer: Only conclusion I follows

Fae sy I T Tl

Candidate Answer: Only conclusion II follows
ol fasay 11 T8 B

Question 19.Find the number of triangles in the figure.

T a1w geaT R 3% ooy Feger € 2
|
A
\
1 1A\
riv.d hNAY
yd N\

N
TN
Options:

1) 14
2) 15
3) 16
4) 20

Correct Answer: 15
Candidate Answer: 15



Question 20.Which one of the following diagram represent the relationship among Parliament, Council of Ministers and Prime Minister?

farfaf@d # & Fia-a1 3@ e, 7H IRwE 3R Tu=THA & dIT Joer R g ?

Options:
1)

2)

O O

3)

s [

O

Correct Answer:

Candidate Answer:
e ()
\_/

O

Question 21.In question no. 21, which answer will complete the pattern in the question figure?

HleT-TT SoclX 3Tt T ST & FTATT T G Y ?




Options:

1) R
i H
i |
i T
I} k.
i -
|
[ —1—=
[
| T
| |
2 ————
| !
T ]
| | |
[} L
i -
|
[ —1—
[
| |
! a
.3)
| ERER
. |
W
I ¥4
[ 5 =
L1 !
|
4) R
| ERER
[N |
T ET
| A
F i
Correct Answell':_ o
WE N
A

— | — 1
| |
F i
Candidate Answer:
| HH
[N |
e
| A
| |
= |

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded.

& 31 Seal ITHTAT H A Seall APl IAT ot geat amspfar fea 2




Options:

1)
i
i
7
2 ==
2)
i
b
3)

B mm 1
B I m
4)

-.L=: 1111
et
[4
Correct Answer:
7
O
Candidate Answer:
i
b

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

SreeT Mot #F fe@mT 3TaR HETer H ASH Fiew T Wicke! & d1G I6 o Sca 3P Shar fews 2am ?

_||
|
I



Options:
1)

Candidate Answer: [ NOT ANSWERED ]

Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

I T GUOT T MN 3ET TR @7 TR AT &7 918 Seal I Hert 3§ HieT-3r Imepfer geat 3ty v w1 wfciferes giair ?

[ A Al ]
cLL |

AN TN




Options:

1)
Jf::_“\ e
i
2)
Y
3)
E '%::\:
= ¥
4)
RN
Correct Answe_r:
N
= Y
Candidate Answer:
I',-----.w\ =
h¥




Question 25.In this question, the sets of numbers given in the alternatives are represented. The columns and rows of Matrix I are nhumbered from 0 to 4 and that of
Matrix IT are numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., A can be represented by 03,55, etc.,
and 'P' can be represented by 10, 44, etc. Similarly you have to identify the set for the word 'BOAT'.

TS G el T GEAT-HHg GaNT &RIT 0T &, i T fasmentt # & fordlr vep o foam aram &) faepedt 7 foT 970 wear @opg 38R & ar aeif g arifv a1w §, o for iy fw
1T &Y TRl 7 81 3Megg I & FoT R Tkl T FEar 0 1 4 3R 3megg I 7 5 8 9 & 918 §1 57 ITeggT ¥ Ueh &N ol Tged 30ehT Tarell 3R T1G 7 T HET g aeifin
ST EHCT | JEERT & foIT 'A' Y 03, 55 31THe; SR &R ST Hehell & T 'P ' T 10, 44 3T &aRT &R ST Hhll &1 S TE & H1ohr f §U 2feq 'BOAT' & o wafg A1

e &

Matrix-1 Matrix-il
0 1 2 3 4 5 6 T 8 9
0 K G E A 5 5 A H u w N
1 P W H R ¥ 6 ¥ R B T v
2 N ] N R K 7 o] 1 H B Q
3 w s B o] i 8 W o £ s
a T u A I P 9 E T K w P
Options:
1) 67,86,55,40

2) 32,86,77,68
3) 78,33,55,44

4) 67,86,31,40
Correct Answer: 67,86,55,40
Candidate Answer: [ NOT ANSWERED ]

Question 26.Saving is that portion of money income that is .....

I 3T AR FT 98 7T § 9 ...

Options:

1) spent for development of Industries
ezttt & Ryama 3 forw @ R ST #1
2) not spent on consumption

TS 3T R G 8T R ST

3) spent on health and education

TR Tareey vd e ) @< R e &
4) spent for consumer durables

TSR 3ueFdT I (RhIF) W W fhar STar &

Correct Answer: not spent on consumption

TSR 3g9fer W @ #1ET fohaT ST

Candidate Answer: not spent on consumption

TSR 3user W @ #1ET foham ST

Question 27.In which field did Amartya Sen win the Nobel Prize ?

3R AT o P &Y 3 el RERR ST ?
Options:

1) Micro Economics

T 3T

2) Welfare Economics

FoToT 3T

3) Economic Growth Model

e fasra AlgeT

4) Input-Output Model

fAder-3curg Arget

Correct Answer: Welfare Economics
FHATT 3TARARA

Candidate Answer: Economic Growth Model

3 Rerr Aiger

Question 28.Raja Ravi Varma was a great painter of which of the following ?

T I g gt & Fgl RFR & ?



Options:
1) Bengal
Eoicy

2) Bihar
[EERS

3) Punjab
Lric)

4) Kerala
el
Correct Answer: Kerala
el

Candidate Answer: Bengal
Eoicy

Question 29.Who was the founder of the Theosophical society of India?

HRA I FANAIhhe TS & TEATIH HloT D/ ?
Options:

1) Annie Besant

ell S¥ee

2) Womesh Chandra Bannerjee
IR ot FeToll

3) Ram Prasad Bismil

TH G [ erer

4) Subhash Chandra Bose

G g, S

Correct Answer: Annie Besant

el e
Candidate Answer: [ NOT ANSWERED ]

Question 30.Who coined the Chipko slogan "Ecology is Permanent Economy"?

TRt ART "R Hr Tl srfcaawen § " e arer ot ?
Options:

1) Chan Prasad Bhatt

qleT TG HE

2) Sundarlal Bahuguna

3) Shayam Prasad Bahuguna

TH 941G EI?_FH

4) Bachni Devi

Eooikcl

Correct Answer: Sundarlal Bahuguna

Candidate Answer: [ NOT ANSWERED ]

Question 31.Which of the following is Study of fossils ?

SHATRA (FITAeH) & HETTA Y FIT Fgd §?
Options:

1) Ethology

AR AE

2) Etiology

GACELCH

3) Anthropology

AT A=

4) Palaeontology

Strared faare

Correct Answer: Palaecontology
Sttared faae

Candidate Answer: [ NOT ANSWERED ]



Options:

1) must be same

TR gt aifed

2) must be different
eeT-eat gl aifed

3) need not be same

T g1 AT AT ¢ |

4) need not be different

- TReet gl ITTLTH AT & |

Correct Answer: must be same
AT g aifed

Candidate Answer: must be different
TeeT-Teat g T

Question 33.Which of the following is the operation executed on data stored in registers?

I & dRd 31T W) s ATaRRrE s a7 Fgd &7
Options:

1) Bit-operation

foe-3iTaer=T

2) Macro-operation

Hepr-3ATaReT

3) Micro-operation

HTSHI- TR0

4) Byte-operation

STEC-3TIRRAA

Correct Answer: Micro-operation
HISSHI- 3T

Candidate Answer: Bit-operation

- 3iTaer=T
Question 34.Sour taste of lemon is due to the presence of which of the following ?

Te] T TeT TTe; fehdeht His[eall s SRoT gl & ?
Options:

1) Citric acid

arsfew vfdis

2) Acetic acid

cfafes wais

3) Oxalic acid

sifrafes wiiE

4) Formic acid

wifd TR

Correct Answer: Citric acid
asfeh vids

Candidate Answer: Acetic acid
fafes i

Question 35.Which State has the longest coastline?

R T H HIY T @ g ?
Options:

1) Andhra Pradesh

T 92T

2) Maharashtra

HERTSG

3) Gujarat

IR

4) Karnataka

FaAlch

Correct Answer: Gujarat
>

Candidate Answer: Karnataka
el

Question 36.Which among the following cities in India is not located in Golden Quadrilateral Road Network?

aRa A rafaf@a # @ sla-ar ey Faot aqelst ARt dead o Ry 781 ¢ ?



Options:

1) Kolkata
PIcThIdT

2) Mumbai
=g

3) New Delhi
3 e

4) Chandigarh
YU

Correct Answer: Chandigarh
BLEir

Candidate Answer: Chandigarh
qUIRTS

Question 37.Which is the first Indian State to go wholly organic ?

ot Fefae ()T arer yus AR T HiT-T g ?
Options:

1) Meghalaya

AT

2) Sikkim

afFma

3) Manipur

Aoy

4) Assam

Iaq

Correct Answer: Sikkim

iEET:
Candidate Answer: [ NOT ANSWERED ]

Question 38.What is the role of "Ombudsman" in a bank?

d # 'FAgsEdeT S = A g ?

Options:

1) To provide quality and speedy redressal of grievances of customers.

TghT & RIIRIT T Sceee AR gl FATROT L]

2) To provide suggestions for innovative schemes in the banks.

T A AT AT o AT gorra &= |

3) To inspect the internal working of the branches.

QMET3T & ITecl ek A T T [AIETOT FaT|

4) To monitor the poverty alleviation programmes undertaken by or implemented by the bank.
e 2@rT YE U I 7 TohaTiead IS Seeeie Hishal i Hifelex Hal

Correct Answer: To provide quality and speedy redressal of grievances of customers.
ITgeh! T RIBRIAT I Scohse HR g THaROT T

Candidate Answer: [ NOT ANSWERED ]

Question 39.Which of the following schedules contains special provisions for the administration of tribal areas in the four north-eastern states of Assam, Meghalaya,
Tripura and Mizoram

Frfof@a & @ frer 3rggeh & 3raw, Aurerd, BT 3R A & TR qafear T3t 7 STt avf & yemae & Ay yrawm § ?
Options:

1) First schedule

qyH Hﬂaﬂ‘\ﬂ

2) Second schedule

EERY 3T

3) Third schedule

R 31T

4) Sixth schedule

Tod!

Correct Answer: Sixth schedule
Sod 3T

Candidate Answer: [ NOT ANSWERED ]

Question 40.Who appoints the members of the State Public Service Commission ?

Ty ik BT AT & Tt H fAgfad Hla w2



Options:

1) Chief Minister

T Ao

2) Governor

Jogqqrel

3) Chief Justice

LY FFERT

4) Vice President

ERRiAIT]

Correct Answer: Governor
Jgqrel

Candidate Answer: Chief Minister
LY HAl

Question 41.Who was the first Indian to be elected as the leader of the Communist International?

IE TUH AT FleT AT T FRIFATT SRS &l AT AaTad fomam arr o1 ?
Options:

1) Jawaharlal Nehru

STATER ol 6w

2) P.C. Joshi

qr.a. SRl

3) Sardar Vallabhai Patel
TSR Tooldl IS Tl

4) M.N Roy

TUH.TAIT

Correct Answer: M.N Roy
TUH. AT

Candidate Answer: M.N Roy
TUH. AT

Question 42.What is the source of natural energy of the hot springs at Manikaran in Himachal Pradesh ?

TeATereT yeer 7 ACIHRTOT & a1 ST B Iiepfcieh ol &l Hel AT ?
Options:

1) Geothermal Energy

AT Fiait

2) Biomass Energy

FRNA ST

3) Thermal Energy

T ST

4) Hydro Energy

el AT

Correct Answer: Geothermal Energy
AT FaiT

Candidate Answer: [ NOT ANSWERED ]

Question 43.Which of the following is @ Dominant Autosomal Disorder ?

ol 7 & a1 snfolrp segeawr (SiffRsdee s fBasms) § ?
Options:

1) Albinism

tfeafasa

2) Cystic Fibrosis

R s

3) Phenyl Ketorunia

TSl Sherferar

4) Alzheimer's Disease

ITCTSISFR AT

Correct Answer: Alzheimer's Disease
ITCTSISFR AT

Candidate Answer: [ NOT ANSWERED ]

Question 44.Glycol is used to manufacture which of the following ?

TelTSehreT ST TN Tohaeh fAHoT & fohaT SITaT & 2



Options:

1) Nylon

ATSalleT

2) Artificial silk

GIEGRUE )

3) Terylene

Rt

4) Rubber

&3

Correct Answer: Terylene

Candidate Answer: [ NOT ANSWERED ]

Question 45.The movement inside the Earth's crust is studied by which of the following ?

g2l Y I & AT Y gorarel T AT Foreh qary fowam Srar g 2
Options:

1) Geology

a-fasmet

2) Seismology

T Tt

3) Plate tectonics

wore faadfaeT

4) Pantograph

LEEINIETC)

(F=eraTh)

Correct Answer: Seismology
Ry farareT

Candidate Answer: Seismology
Ry faareT

Question 46."Lona" is related to which game?

A T AT A TG § ?
Options:

1) Kho Kho

@r-@r

2) Kabbaddi

EEEE

3) Lawn Tennis
dleT-efaa

4) Badminton

EEEcroy

Correct Answer: Kabbaddi
FHagar

Candidate Answer: Kho Kho
@r-@r

Question 47.Ten thaats or scales, belong to which system of music?

S 31 IT TIRATH, TNl T fohd ToTell & Toafeerd & ?

Options:

1) Hindustani Music
gl Fafta

2) Folk Music
Eleak:nic

3) Chinese Music
AT Foltd

4) Western Music
IRTCH Hofld
Correct Answer: Hindustani Music
gt Fefter

Candidate Answer: [ NOT ANSWERED ]

Question 48.Which one among the following components can not be developed within an "integrated circuit"?

AT & @ FleT-71 ek Thihd TRUY & el 78T 7o Thell & ?



Options:
1) Diode
3AE
2) Triode
TS

3) Transformer

SRR

4) Transistor

giforeeX

Correct Answer: Transformer
IFR

Candidate Answer: [ NOT ANSWERED ]

Question 49.What is the transplantation of graft between genetically identical individuals ?

3R T § GA A fFadl & i FeaRIToT Y 7 Fgdl § ?
Options:

1) Autograft

3ifcramhe

2) Isograft

TSTRETHS

3) Allograft

TElIThe

4) Xenograft

SARIET

Correct Answer: Isograft

JTSARTRE
Candidate Answer: [ NOT ANSWERED ]

Question 50.Yogeshwar Dutt is associated with which sport?

e Ged R AA AR E ?
Options:

1) Discus Throw

S&ra ot

2) Wrestling

k3Gl

3) Shooting

foremey sreir

4) Pole Vault

el diee

Correct Answer: Wrestling
i

Candidate Answer: Wrestling
e

Question 51.Number of composite numbers lying between 67 and 101 is

67 3R 101 & T A= oo TEaq § ?

Options:
1) 27

2) 24
3) 26

4) 23
Correct Answer: 27
Candidate Answer: [ NOT ANSWERED ]

Question 52.A dealer allows a discount of 15%. A customer pays an amount of Rs. 318.75 for an article. At what price is the article listed?

T AT 15% F FT ST ¥ IS T1eeh el ag & AT Rs. 318.75 1 TR 3eT e ¥ T ¥ H FAA 7 P ?

Options:
1) Rs. 366.50

2) Rs. 375.00
3) Rs. 350.00

4) Rs. 431.25
Correct Answer: Rs. 375.00
Candidate Answer: [ NOT ANSWERED ]



Question 53.The reciprocals of the squares of the numbers 1%z and 1} are in the ratio

1%2 3R 1% % Faif & Yoshat Forg 31gael & gia 2

Options:
1)64:81

2)8:9
3)81: 64

4)9:8
Correct Answer: 64 : 81
Candidate Answer: [ NOT ANSWERED ]

Question 54.The average of 15 numbers is 7. If the average of the first 8 numbers is 6.5 and the average of the last 8 numbers is 8.5 then middle number is

15 TEamtt &t 3tad 7 §1 afe ggelr 8 TEam3it 1 3itad 6.5 & iR 3ifas 8 Teamsit &7 3itaa 8.5 & at i arel Tt AT Hifed ?

Options:
1) 10

2) 23
3)13

4) 15
Correct Answer: 15
Candidate Answer: 15

Question 55.A man bought 25 crates of oranges for Rs. 10,000. He lost 5 crates. In order to earn a total profit of 25% of the total cost, he would have to sell each of
the remaining crates at

TRl ST = el & 25 she Rs. 10000 & @i | 3731 § 5 She T I | 3 G8 AV she H W Fedish she 3 g1 TR I o SHeh! Fool ST U 25% T 16T &1 2

Options:
1) Rs.650

2) Rs. 625
3) Rs. 600

4) Rs. 575
Correct Answer: Rs. 625
Candidate Answer: [ NOT ANSWERED ]

Question 56.What is the difference between 0.6 and 0.6%?

0.6 3% 0.6% & T FAT IR & ?

Options:
1) 5.94

2) 0.594
3) 60

4)54
Correct Answer: 0.594
Candidate Answer: 5.94

Question 57.A man travels 34th of the distance of his journey by bus, Ysth by Rickshaw and 2 km on foot. The total distance travelled by the man is

IS SR 3791 AT BT 3/4 g0 a6 W, 1/6 Rerrm & 3K 2 TR0#N0 Yerel T AT ¥1 36 ST o ool Tttt AT T 2

Options:
1) 12 km

2) 18 km
3) 20 km

4) 24 km
Correct Answer: 24 km
Candidate Answer: [ NOT ANSWERED ]

Question 58.The compound interest on Rs. 1000 at 10% per annum for 3 years in (Rs.) is

3 a9 & fAT 10% a1 T 9T Rs. 1000 TR <Thfe SATS AT g1 ?



Options:
1) Rs. 1331

2) Rs. 331
3) Rs. 300

4) Rs. 1300
Correct Answer: Rs. 331
Candidate Answer: Rs. 300

Question 59.
Ifvi =1.732, then the value of
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IfEVv3=1.7328, ar
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V3 @A A e ?

Options:
1) 7.169

2)7.19%
3)5.198

4) 7.296
Correct Answer: 7.196
Candidate Answer: 7.296

Question 60.

ifx+ i = 2, then the value of x*°

i ’
+F —2is

= = 1
ﬂﬁ.\"x1— = —Z,E.'T,H’rxgg+xﬁ—2 =hl
AT AT e 7

Options:
1) -2

2)0
3)2

4)4
Correct Answer: 0
Candidate Answer: [ NOT ANSWERED ]

Question 61.In AABC, the medians AD and BE meet at G. The ratio of the areas of ABDG and the quadrilateral GDCE is

AABC # AIfETehTT AD 3R BE TRER G WX fefll €1 ABDG 3R FoercsisT GDCE & &Tthell shr 3equTdl 3ATcl Shifordr ?

Options:
1)1:2

2)1:3
3)2:3

4)3:4
Correct Answer: 1:2
Candidate Answer: [ NOT ANSWERED ]

Question 62.
P@RSTU is a cyclic hexagan.Then £P + R + £T is equal to

i PQRSTU Teh Thi TS B, T 2P+2£R+2T fahaeh sTaT g 2

Options:
1) 720°

2) 360°
3) 540°

4) 180°
Correct Answer: 360°
Candidate Answer: [ NOT ANSWERED ]



Question 63.

7 N3
If rsin@ =3 and rcosgd = =N then the valueof 8 is

afe rsin8=%3ﬂ\h rcosE‘=$ETHT g =Rl Ald IdGE?

Options:
1) 30°

2) 45°
3) 60°

4) 75°
Correct Answer: 30°
Candidate Answer: [ NOT ANSWERED ]

Question 64.Sashi can do a piece of work in 20 days. Tanya is 25% more efficient than Sashi. The number of days taken by Tanya to do the same piece of work is:

ATRY FoelT FraT a1 20 &7 71 T Fohel! &1 T 36 25% 317 G&T | I8T I e bty fett 37 X1 ahel ?

Options:
1) 15

2) 16
3)18

4) 25
Correct Answer: 16
Candidate Answer: [ NOT ANSWERED ]

Question 65.
1 ;
If a+% =1, b+ e 1 then the value of abc is

ARG a+2 =1,b+1 = 1,87 A abc F AT FATT?

Options:
1)0

2)-1
3)1

4) ab
Correct Answer: -1
Candidate Answer: [ NOT ANSWERED ]

Question 66.

1
Ifo—£=5,x:&D then the valueof x° + —2is

16x2

I 20— = =5, x 0 A 2%+ 5 —
2 W1 AT AT it ?

Options:

1)

19

I8

2)
23

4

3)
27

4

4)
31

4



Correct Answer:
19
4
Candidate Answer: [ NOT ANSWERED ]

Question 67.XYZ is a right angled triangle and 2Y = 90°. If XY = 2.5 cm and YZ = 6 cm then the circumradius of AXYZ is

XYZWWUTﬁEgH%.%ﬂTLY =90° g1 Ifg XY = 2.5 T4 3R YZ = 6 .7 g ar AXYZ Fr aRfFsar ana fifgdr 2
Options:

1)6.5cm

6.5 ¥4,

2)3.25cm

3.25 9.4

3)3cm

3EA.

4)2.5cm

2.5 84

Correct Answer: 3.25 cm
3.25 @A

Candidate Answer: [ NOT ANSWERED ]

Question 68.
In AABC, B =54C and £A = 32£C,then the measure af £C is

MABC # 2B = 5.C 31X £A = 32C 8 Al 2C Y A AT HfoRY ?

Options:
1) 45°

2) 30°
3) 20°

4) 5°
Correct Answer: 20°
Candidate Answer: [ NOT ANSWERED ]

Question 69.The length of shadow of a tower is V3 times that of its length. The angle of elevation of the sun is

TRl TR T TRoTS T TS AR 1 TS § V3 I & §F H SeoTae] HI0T AT dHifordy 2

Options:
1) 45°

2) 30°
3) 60°

4) none
Correct Answer: 30°
Candidate Answer: [ NOT ANSWERED ]

Question 70.
If x is the area, y is the circumference

and z is the diameter of circle then the
value of x is

¥z

afg fel dged &1 x3HD1 &A%
Bl y 3%eht aRfS &1 3R 2 3w
Eams‘ra‘r;—'zarmamscr?

Options:
1)4:1

2)1:4
3)1:2

4H)2:1
Correct Answer: 1: 4
Candidate Answer: [ NOT ANSWERED ]



Question 71.

Iftan 8 = 1, then the value of
8 sinB+5 cosb

5in®@ —2 cos®6+7 cose

aﬁtanﬂ g a a)[ 2 sinf+5 cosf

s5in38 —2 cosfB+7 cosf

FT ATH AT P ?

Options:
1)1

2)3
3)2

4)
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]

Question 72.Student strength of a college in Arts, Science and Commerce from 2004 - 2005 to 2007 - 2008 session are shown in the following bar graph. Study the
graph and answer the questions that follow.

AT IR I 3 I¥ 2004-2005 & 2007-2008 o Tk 3 T & TR dioier 3 et i e, e 3R arfoies Rt & Twar gt arh &1 I & sreaaeT
Ffev 3k A=fafaa vyeat & scar e ?

VA Art IEI Sclence D Commerce

T

Numbaers
,f ey
Students

2004 - 2005 2005 - 2005 2006 - 2007
Year —r

The ratio of average number of students in Science to the average number of students in Commerce is

Toremer o Rt #r sitaa e a1 arftisy v 3 faenfiat i sitad dear & seqard A Sifosr ?

Options:
1)10:7

2)7:4
3) 12:5

4)48 : 35
Correct Answer: 7 : 4
Candidate Answer: [ NOT ANSWERED ]



Question 73.Student strength of a college in Arts, Science and Commerce from 2004 - 2005 to 2007 - 2008 session are shown in the following bar graph. Study the
graph and answer the questions that follow.

FAfaf@d S) I1% & I§ 2004-2005 & 2007-2008 & T & TF H RET Hiclsl # ezt Hr Far, ot 3R a1 vt & TEar grily =i §1 70w i 3eggeT
Ffev 3R PA=fafad et & 3car e ?

VA Art IEI Sclence D Commerce

T

Numbaers
,f ey
Students

2004 - 2005 2005 - 2005 2006 - 2007
Year —»

The increase in the number of Arts students in 2007-2008 session over that in 2005-2006 session is

Y 2005-2006 & TF T 37987 a§ 2007-2008 & TF  Fell o faeIIT FHr G&ar & frder ufaea Eﬁfq@g‘é’ ?
Options:

1) 25%

2) 21.42%

3) 27.27%

4) 37.5%

Correct Answer: 27.27%
Candidate Answer: 27.27%

Question 74.Student strength of a college in Arts, Science and Commerce from 2004 - 2005 to 2007 - 2008 session are shown in the following bar graph. Study the
graph and answer the questions that follow.

AT I I 3 I§ 2004-2005 & 2007-2008 o ok 3 T & R Siolet 3 [aegi2iat i e, [ 3R arfviey vt & dwar gt sl &1 I & sreaaeT
fifaw 3k FE=fRRT gt & 3ca) ey ?

VA Art IEI Science D Commerce

T

Numbaers
,f ey
Students

2004 - 2005 2005 - 2005 2006 - 2007
Year —»

Approximate percentage of students in Science stream during the session 2006-2007 is

T 2006-2007 & T # a1 oy #F ezt i vean & ufaed aa fife ?
Options:

1) 42.31%

2) 40.91%

3) 41.26%

4) 31.42%

Correct Answer: 42.31%

Candidate Answer: [ NOT ANSWERED ]



Question 75.Student strength of a college in Arts, Science and Commerce from 2004 - 2005 to 2007 - 2008 session are shown in the following bar graph. Study the
graph and answer the questions that follow.

FAfaf@d S) I1% & I§ 2004-2005 & 2007-2008 & T & TF H RET Hiclsl # ezt Hr Far, ot 3R a1 vt & TEar grily =i §1 70w i 3eggeT
Ffev 3R PA=fafad et & 3car e ?

VA Art IEI Sclence D Commerce

T

Numbaers
,f ey
Students

2004 - 2005 2005 - 2005 2006 - 2007
Year —»

Percentage increase in total number of students in 2007 - 2008 session over that in 2004 - 2005 session is approximately

a¥ 2004-2005 & & T 30&T ¥ 2007-2008 3 T H el 1 gor dear & gig 1 gfererd A Hifor ?

Options:
1) 29.71

2) 25.65
3) 10.56

4) 20.83
Correct Answer: 20.83
Candidate Answer: 25.65

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

INDOLENT
Options:

1) LAZY

2) EXPENSIVE
3) ACTIVE

4) HAPPY

Correct Answer: LAZY
Candidate Answer: LAZY

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
to it.

INSOLENT

Options:

1) SCRUPULOUS

2) EMOLIENT

3) COURTEOUS

4) LAZY

Correct Answer: COURTEOUS
Candidate Answer: LAZY

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Beneficiary

2) Benificiary

3) Beneficeary

4) Benefeciary

Correct Answer: Beneficiary

Candidate Answer: Beneficiary

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Had I been (A) / in my brother's position (B) / I would have refused the offer. (C) / No Error (D)



Options:

1)A

2)B

3)C

4)D

Correct Answer: D
Candidate Answer: A

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

His parents usually spent (A) / their summer in Ooty (B) / but this year they are spending it in Darjeeling. (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: C

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

He lost heart (A) / because he could not cope up with (B) / the difficulties in life. (C) / No Error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Due to heavy rains, the match was called
Options:

1) of

2) off

3) down

4) out

Correct Answer: off

Candidate Answer: out

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The Management gave us permission to with the new curriculum.
Options:

1) go fixed

2) go about

3) go ahead

4) go around

Correct Answer: go ahead

Candidate Answer: go fixed

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Mount Everest has earned the distinction of being the world's highest garbage dump.
Options:

1) marked

2) disgusting

3) dubious

4) dismal

Correct Answer: dubious

Candidate Answer: [ NOT ANSWERED ]

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

As daft as a brush

Options:

1) Extremely silly

2) Artistically inclined

3) Completely clean

4) Utterly selfish

Correct Answer: Extremely silly
Candidate Answer: [ NOT ANSWERED ]



Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

In a nutshell

Options:

1) In translation

2) A decorative language

3) A well-packed parcel

4) Briefly and concisely

Correct Answer: Briefly and concisely

Candidate Answer: [ NOT ANSWERED ]

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Strain every nerve

Options:

1) Try all tricks

2) Work very hard

3) Beg before others

4) Spend a large amount

Correct Answer: Work very hard
Candidate Answer: Try all tricks

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Proposition made as a basis for reasoning without the assumption of its truth
Options:

1) Hypertext

2) Hypocrisy

3) Hyperbole

4) Hypothesis

Correct Answer: Hypothesis

Candidate Answer: Hypothesis

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Indifference to pleasure and pain
Options:

1) Perseverance

2) Tolerance

3) Stoicism

4) Radicalism

Correct Answer: Stoicism

Candidate Answer: Tolerance

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

No longer a child, but not yet an adult
Options:

1) Youngster

2) Adolescent

3) Juvenile

4) Yokel

Correct Answer: Adolescent

Candidate Answer: [ NOT ANSWERED ]

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

I bought four dozen of mangoes.
Options:

1) dozens of mango

2) dozens of mangoes

3) dozen mangoes

4) No improvement

Correct Answer: dozen mangoes

Candidate Answer: dozens of mangoes

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

I have still to meet a person who is perfectly satisfied with his job.
Options:

1) would meet

2) am yet to meet

3) might still meet

4) No improvement



Correct Answer: am yet to meet
Candidate Answer: No improvement

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Would you find one absent, please don't forget to leave a message behind.
Options:

1) As you find

2) Should you find

3) Unless you find

4) No improvement

Correct Answer: Should you find

Candidate Answer: Should you find

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Kim is too impatient with tolerating any delay.
Options:

1) at tolerating

2) for tolerating

3) to tolerate

4) No improvement

Correct Answer: to tolerate

Candidate Answer: No improvement

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement”.

I purposely did that with a view to offend her.
Options:

1) with a view of offending her

2) with a view that I offend her

3) with a view to offending her

4) No improvement

Correct Answer: with a view to offending her

Candidate Answer: with a view that I offend her

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

The antigen-antibody immunological reaction is used to be regarded as typical of immunological responses. Antibodies are proteins synthesized by specialized cells
called plasma cells, which are formed by lymphocytes (cells from the lymph system) when an antigen, a substance foreign to an organism's body, comes in contact
with lymphocytes. Two important manifestations of antigen-antibody immunity are lysis, the rapid physical rupture of antigenic cells and the liberation of their contents
into the surrounding medium, and phagocytosis, a process in which antigenic particles are engulfed by and very often digested by macrophages and polymorphs. The
process of lysis is executed by a complex and unstable blood constituent known as complement, which will not work unless it is activated by a specific antibody; the
process of phagocytosis is greatly facilitated when the particles to be engulfed are coated by a specific antibody directed against them.

One of the two important manifestations of antigen-antibody immunity is lysis while the other is
Options:

1) lymphocytes

2) plasma

3) antigenic cells

4) phagocytosis

Correct Answer: phagocytosis

Candidate Answer: phagocytosis

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

The antigen-antibody immunological reaction is used to be regarded as typical of immunological responses. Antibodies are proteins synthesized by specialized cells
called plasma cells, which are formed by lymphocytes (cells from the lymph system) when an antigen, a substance foreign to an organism's body, comes in contact
with lymphocytes. Two important manifestations of antigen-antibody immunity are lysis, the rapid physical rupture of antigenic cells and the liberation of their contents
into the surrounding medium, and phagocytosis, a process in which antigenic particles are engulfed by and very often digested by macrophages and polymorphs. The
process of lysis is executed by a complex and unstable blood constituent known as complement, which will not work unless it is activated by a specific antibody; the
process of phagocytosis is greatly facilitated when the particles to be engulfed are coated by a specific antibody directed against them.

What are antibodies?

Options:

1) Minerals in the cells

2) Proteins

3) Synthesized proteins

4) Dead cells

Correct Answer: Synthesized proteins

Candidate Answer: Synthesized proteins



Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

The antigen-antibody immunological reaction is used to be regarded as typical of immunological responses. Antibodies are proteins synthesized by specialized cells
called plasma cells, which are formed by lymphocytes (cells from the lymph system) when an antigen, a substance foreign to an organism's body, comes in contact
with lymphocytes. Two important manifestations of antigen-antibody immunity are lysis, the rapid physical rupture of antigenic cells and the liberation of their contents
into the surrounding medium, and phagocytosis, a process in which antigenic particles are engulfed by and very often digested by macrophages and polymorphs. The
process of lysis is executed by a complex and unstable blood constituent known as complement, which will not work unless it is activated by a specific antibody; the
process of phagocytosis is greatly facilitated when the particles to be engulfed are coated by a specific antibody directed against them.

What happens when an antigen comes in contact with lymphocytes?
Options:

1) Antibodies are destroyed

2) Plasma cells are formed

3) Proteins are synthesized

4) Old cells are restored

Correct Answer: Plasma cells are formed
Candidate Answer: Plasma cells are formed

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

The antigen-antibody immunological reaction is used to be regarded as typical of immunological responses. Antibodies are proteins synthesized by specialized cells
called plasma cells, which are formed by lymphocytes (cells from the lymph system) when an antigen, a substance foreign to an organism's body, comes in contact
with lymphocytes. Two important manifestations of antigen-antibody immunity are lysis, the rapid physical rupture of antigenic cells and the liberation of their contents
into the surrounding medium, and phagocytosis, a process in which antigenic particles are engulfed by and very often digested by macrophages and polymorphs. The
process of lysis is executed by a complex and unstable blood constituent known as complement, which will not work unless it is activated by a specific antibody; the
process of phagocytosis is greatly facilitated when the particles to be engulfed are coated by a specific antibody directed against them.

Which of the following statement is true in the context of the essay?
Options:

1) Antigen-antibody is a psychological process

2) Lysis is a process of forming plasma cells

3) Complement is a blood constituent

4) Antigen is part of the organism's body

Correct Answer: Complement is a blood constituent
Candidate Answer: Complement is a blood constituent

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

The antigen-antibody immunological reaction is used to be regarded as typical of immunological responses. Antibodies are proteins synthesized by specialized cells
called plasma cells, which are formed by lymphocytes (cells from the lymph system) when an antigen, a substance foreign to an organism's body, comes in contact
with lymphocytes. Two important manifestations of antigen-antibody immunity are lysis, the rapid physical rupture of antigenic cells and the liberation of their contents
into the surrounding medium, and phagocytosis, a process in which antigenic particles are engulfed by and very often digested by macrophages and polymorphs. The
process of lysis is executed by a complex and unstable blood constituent known as complement, which will not work unless it is activated by a specific antibody; the
process of phagocytosis is greatly facilitated when the particles to be engulfed are coated by a specific antibody directed against them.

Phagocytosis is a process in which antigenic particles are by and very often digested by macrophages and polymorphs.
Options:

1) attacked

2) attracted

3) enveloped

4) engulfed

Correct Answer: engulfed

Candidate Answer: enveloped



